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Aufgabe 1
Kiirzen Sie:
(a) 55
(b) 155
() 16
(d) 3
Aufgabe 2
Berechnen Sie:
(a) 5 — %
(b) §— 3
() 7+ a1
() F-%
() 5+ 3
(f) % - &
Aufgabe 3

Berechnen Sie:
(a) 85 + 3%
(b) 143 + 4%

(c) 1775 — 82



Aufgabe 4

Berechnen Sie:

Aufgabe 5

Berechnen Sie die Unbekannte:

CO

a 2=22-3(z+1)

(a)
(b)
)
)

T —

8

—4)2 =11z — 38

..;;

(c
(d

(x—3)
(z+2) = (
(2 =42 — (2482 +232+45=0
(a=7)%+9

24

\]

a— = (a+3)*+49

Aufgabe 6

Schreiben Sie mit dem Summenzeichen:
?

(a) 1-44+7-10+13-16+19—-22=> 7
k=7

1 1 1 1 1
D) st Tes T tsot T on 27

?
(c) 2' =42 +6° — ... 4147 —16° =) 7



Aufgabe 7

Vereinfachen Sie, soweit moglich:

100 100
(a) Y mg =) 2
n=2 k=2
50 50
(b) 2) m+> (rP+1)
m=1 r=1
200 200

j=1 i=2



